mist Jx—UF Da—UF b J#4—UF

600 hSw I 800 S w47 1200 kS w4 |[1400X RTSwT
G477 BET BER BES BE

400 mm X 400 |400 mm X 400 |400 mm % 400 |500 mm x 500
%J‘GEAETIE mim mim mim mim
ETEE 1.8 km/h 1.2 km/h 1.5 km/h 2.0 km/h
A ) i—Ho L

(E& x 15) FAdm=x1.886mdm=x24m Fdm=x2.1Z2ZmE4oem= 2.58m

E5= 3 m? 3.1 m? 5.0 m? 7.0m3
ATV — AT

1.17 m ¥ 2.34

1.2mxX 2.7 m

1.17m* 3.6m

15m=36m

® ) |m
PAX (RExB) (e (288 (288) (288
E Ty __.'-l'-
i BAYIZ=TY |100 mm 100 mm 100 mm 100 mm
SRz (EiRREE) (ERES) (EiRE=) (RS
TEE EHE EEEE 40 mm 40 mm 40 mm 40 mm
tEHA 14e 14 1495189 13ehu5 100
Za—ig 300 mm 400 mm 300 mm 400 mm
ﬁg;g}é 2,190 mm 2,490 mm 3430 mm 2,960 mm
Jo—4—02./"F |[1,000 mm 1,050 mm T 1,300 mm
= (L) (~JL ) . (xFOz)
;f;i;ﬁﬁﬁ 1,000 mm 1,050 mm 1,000 mm 1,200 mm
;r:_fi;?;;%ﬁé 2,695 mm 3,000 mm 2,800 mm 2,900 mm
El =1

=kl AT
;R"rjn:';’“" 650 mm 650 mm 650 mm 200 mm

ty = |
= ST
;Qgg:{;m 2,850 mm 2,600 mm 2,950 mm 2,600 mm
vl ™~/

B S o T
iiﬁ;l’“" 650 mm 650 mm 800 mm 200 mm

13 =

T
;ig;g’m) 2,900 mm 3,800 mm 3,000 mm 3,720 mm
irly ™/

- T

ijﬁﬁ;j’/\j Za— Mg 1,050 mm a—MMiE  [1,200 mm

=
EHhEE
EEED 42kwW 55k Sk 82kw
WY . OBE 145 L 145 L 145 L 236 L
WrLEES 11 L/hr #¥1 12 L/hr %1 11 L/hr %1 18 L/hr 31
{EshBS L OBE 250 L 500 L 250 L 450 L




B=E

EREN 42kW 55kW S4kw 82kw

s 145 L 145 L 145 L 336 L

HiLEEE 11 L/hr 31 12 L/hr 31 11 L/hr 31 18 L/hr 31

EENRY L OF8  |250L 500 L 250 L 450 L

BmRESARTR

BUEE

FEE =5 10,540 mm 11,500 mm 11,630 mm 14,230 mm
Z21E 10,420 mm 14,100 mm 10,380 mm 12,580 mm
== 3,180 mm 3,800 mm 3,760 mm 4,410 mm

HixE =2E 10,280 mm 2,400 mm 10,260 mm 14,170 mm
=1E 2,250 mm 2,500 mm 2,250 mm 2,750 mm

= 2,550 mm 2,100 mm 2,510 mm 3,200 mm
EE 12.0 k> 18.1 k> 16.8 2 27.5 k>




—r TA—UF D —UF
e 1800 +Sw4r (2100 RS Wi
47T BET BES
600 mm X 600 |600 mm X 600

I S Tl
ETEE 1.0 km/h 1.4 km/h
) i—Hr

(E& x 1E) 44m=2.7m [4.7mx2.6m
BE 6.8 m> 7.0m?3
20—l

X (BEE =18

1.5mx4.8m
(28%)

1E5m=x4Em
(28%)

HB Ay IJr7—Fwt 100 mm 100 mm
=[EEES \STmBEE) (SomBEE)
TiE T EEE 40 mm 40 mm
EE 14975189 ige
Zsa—0g 500 mm 500 mm
OO0—-SEZ

(52 §EEH) 3,250 mm 3,840 mm

- 1,300 mm
- - e T = ]
Do — S =715 e 1,200 mm
Fd—) -4 2
VAT AL IE 1,400 mm 1,400 mm
A—) -4 X
S 3,730 4,200
AT HREOES Lk S
= PR
;Jt)tllzlgf/ ~ 200 mm 200 mm
=
;;Eig“ 3,700 mm 2,670 mm
A A ANF 900 mm 900 mm
~JL S
s T L
== 3,440 3,930
HOsE e e
= ol T

LD b7 1,200 mm 1,300 mm

1B




BN=E

EREEN 82 kw a8 kw

HEY L OBE 336 L 336 L

HELEES 19 L/hr %1 22 L/hr

1EENRS L OHE 450 L 450 L

B TE

RUEE

TEE =E 14,270 mm 16,100 mm
2012 12,600 mm 13,500 mm
== 4,550 mm 4,530 mm

ERE =B 15,520 mm 15,990 mm
=18 2,960 mm 2,000 mm

= 3,390 mm 3,430 mm
== 31.5 k- 34.86 R



	2.png
	4.png
	3.png
	5.png

